
J - J
1:10

K - K
1:10

L - L
1:10

M - M
1:10

N - N
1:10

O - O
1:10

A - A
1:5

P - P
1:10

R - R
1:10

B - B
1:5

B1 - B1
1:5

C - C
1:5

D - D
1:5

E - E
1:5

F - F
1:5

G - G
1:5

H - H
1:5

I - I
1:10

S - S
1:10

T - T
1:10

U - U
1:10

X - X
1:10

Y - Y
1:10

Z - Z
1:10

1 - 1
1:10

2 - 2
1:10

3 - 3
1:10

4 - 4
1:10

5 - 5
1:10

6 - 6
1:10

7 - 7
1:10

SHIM PLATE DETAIL
1:5

8 - 8
1:10

WT-E WT-E

WT-5

WT-5

WT-3

WT-3

WT-2

WT-2

WT-1

WT-1

WT-C WT-C

WT-D WT-D

WT-4

WT-4

+29.694
+29.654

WT-E

+29.694
+29.654

WT-E

+29.694
+29.654

WT-E

+29.694
+29.654

WT-E

+29.694
+29.654

WT-E

+29.694
+29.654

+29.694

+29.654

+29.694
+29.654

+29.694
+29.654

+29.694

+29.654

+29.694

+29.654

+29.694

+29.654

+29.694

+29.654

+29.694

+29.654

WT-E

+29.694

+29.654

WT-E

+29.694

+29.654

+29.694

+29.654

+29.694
+29.654

WT-E

+29.694
+29.654

+29.694
+29.654

+29.694
+29.654

WT-4

+29.694
+29.654

+29.694
+29.654

+29.694
+29.654

WT-D

+29.694
+29.654

WT-D

+29.694
+29.654

WT-D

+29.694
+29.654

+29.694
+29.654

WT-C

+29.694
+29.654

+29.694
+29.654

WT-C

+29.694
+29.654

+29.694
+29.654

7

7

6

6

4

4

U

U

T

T

S

S

SB-AC-822SB-AR-801

SB-AB-818

SB-AB-808

SB-AH-803

SB-AH-818

SB-AC-813

SB-AR-828

SB-AR-827

SB-AH-805
SB-AR-806

SB-AC-802

SB-AR-805
SB-AR-805

SB-AC-801

SB-AH-801

SB-AB-817 SB-AH-843

SB-AB-817

SB-AH-817

SB-AB-808

SB-AH-803

SB-AB-808

SB-AC-807

SB-AC-806

SB-AC-809
SB-AR-814

SB-AR-813

SB-AH-806

SB-AB-808

SB-AH-803

SB-AC-816

SB-AR-825

SB-AR-826

SB-AC-810

SB-AC-816

SB-AC-810

SB-AC-813

SB-AC-810

SB-AC-813

SB-AC-810

SB-AC-810

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803SB-AB-808
SB-AH-803

SB-AH-815

SB-AH-813

SB-AH-811

SB-AB-810

SB-AB-811

SB-AB-810

SB-AH-804

SB-AH-816SB-AH-814

SB-AH-812

SB-AH-810

SB-AR-824

SB-AR-823

SB-AR-822

SB-AR-821

SB-AR-820

SB-AR-819

SB-AR-818

SB-AH-802

SB-AH-801

SB-AH-805

SB-AR-804

SB-AB-807

SB-AB-807

SB-AR-812

SB-AB-807

SB-AB-807

SB-AB-807

SB-AB-807

SB-AB-807

SB-AB-807

SB-AR-811

SB-AB-806

SB-AH-824

SB-AR-810

SB-AB-806

SB-AH-824

SB-AR-810

SB-AB-806

SB-AH-824

SB-AR-809

SB-AB-805

SB-AR-810
SB-AB-808

SB-AC-820

SB-AC-805

SB-AC-821

SB-AC-810

SB-AB-810

SB-AH-809

SB-AR-817

SB-AR-816

SB-AH-808

SB-AB-810

SB-AH-807

SB-AB-808

SB-AH-803

SB-AR-815

SB-AR-807

SB-AB-807

B

B A

A

SB-AB-803

SB-AB-802

EPDM
U5*18*1

R

R

P

P

O

O

N

N

M

M

L

L

K

K

J

J

I

IH

HG

G

F

F

E

E

D

DC

C

SB-AC-817

SB-AC-815

SB-AC-814

SB-AC-812

SB-AC-811

SB-AC-808

SB-AH-803

SB-AH-803

SB-AB-813

SB-AB-814

SB-AB-812

SB-AC-802

SB-AB-816

SB-AB-815

SB-AB-816

SB-AB-815

SB-AB-816

SB-AB-815

SB-AC-818

SB-AC-819

SB-AB-801

SB-AC-804

SB-AC-803

SB-AC-801

5

5

3

3

2

2

1

1

Z

Z

Y

Y
X

X

SB-AC-827

SB-AC-827

SB-AC-816

SB-AC-816

SB-AC-823

SB-AC-824

SB-AC-816

SB-AC-816

SB-AC-816

SB-AC-816

SB-AR-835

SB-AB-822

SB-AB-815

SB-AR-837

SB-AB-815

SB-AB-836

SB-AB-834

SB-AB-830

SB-AB-830

SB-AB-829

SB-AB-828

SB-AB-827

SB-AB-820

SB-AH-841

SB-AH-834

SB-AH-836

SB-AB-808

SB-AH-803

SB-AC-816

SB-AC-810

SB-AC-828

SB-AR-802

SB-AB-825

SB-AB-815

SB-AB-825

SB-AB-815

SB-AB-824

SB-AB-815

SB-AB-823

SB-AB-819

SB-AB-819

SB-AH-838

SB-AH-832

SB-AH-830

SB-AH-828

SB-AH-822

SB-AH-822

SB-AB-817

SB-AH-839

SB-AB-817
SB-AH-837

SB-AB-817

SB-AH-835

SB-AB-817

SB-AH-833

SB-AB-817

SB-AH-831

SB-AB-817

SB-AH-829

SB-AB-817

SB-AH-827

SB-AB-817

SB-AH-825

SB-AB-817

SB-AH-823

SB-AB-817

SB-AH-821

SB-AB-817

SB-AH-819

SB-AB-832

SB-AB-821

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AB-826

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AH-826

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AH-820

SB-AC-822

SB-AC-810

SB-AC-810

SB-AC-813

SB-AC-810

SB-AC-810

SB-AC-813

SB-AC-822

SB-AC-825

SB-AC-809
SB-AC-822

SB-AC-813

SB-AC-816

SB-AC-822

SB-AC-810

SB-AC-810

SB-AC-810

SB-AC-816

SB-AC-822

SB-AR-851

S
B

-A
R

-8
4
8

SB-AR-844

S
B

-A
R

-8
46

SB-AR-843

S
B
-A

R
-8

45

SB-AR-841

S
B
-A

R
-8

42

SB-AR-839

SB-AR-838

SB-A
R
-8

40

SB-A
R
-8

36
SB-AR-834

SB-A
R
-8

33

SB-AR-832

SB-A
R-8

31

SB-AR-830

SB-A
R-829

SB-AC-826

SB-AC-813

SB-AC-816

SB-AR-808

SB-AB-837

SB-AB-839

SB-AB-840

SB-AB-809

SB-AB-804

SB-AB-838

SB-AB-841

SB-AB-835SB-AC-816

SB-AC-816

SB-AC-816

SB-AC-816

SB-AR-849

SB-AR-847

SB-AH-840

SB-AB-833

SB-AB-825

SB-AB-815

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AB-808

SB-AH-803

SB-AC-816

SB-AR-803

SB-AB-833

SB-AB-815

SB-AB-825

SB-AB-815

SB-AB-817

SB-AH-842

SB-AB-817

SB-AH-844

SB-AB-831 SB-AR-852
SB-AR-850

RS_PRO_619_1736
EPDM

EPDM
U5*18*1

SB-AB-808 SB-AB-808

SB-AR-813

1 x M8 x 65
931-A2-70

1 x M8 x 65
931-A2-70

2 x M8 x 25
931-A2-70

2 x M8 x 25
931-A2-70

EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x HST M8x95/30 heff=60mm 2x HST M8x95/30 heff=60mm

NUT M6 DIN934-A2-70

WASHER M6 DIN125-A2-70

Weld studs M6x12

SB-AC-808

S
B

-A
H

-8
0
3

ST4.2x16_A2 DIN7504P

SF-AP-830

S
B

-A
H

-8
0
3

SB-AC-807

SB-AC-806

SF-AP-801

RS_PRO_619_1736
EPDM

SB-AB-808

SB-AB-808

SB-AB-810

SB-AR-814

3x ST4.2x16_A2 DIN7504P

3x EJOT JT4-6-5.5x22

14x EJOT JT4-6-5.5x22

EJOT JT4-6-5.5x22

EJOT JT4-6-5.5x22

14x ST4.2x16_A2 DIN7504P

2 x M8 x 25
931-A2-70

2 x M8 x 25
931-A2-70

4 x M6 x 25
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

1 x M8 x 65
931-A2-70

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

1 x M8 x 65
931-A2-70

1 x M8 x 65
931-A2-70

S
B

-A
H

-8
0
3

SF-AP-830

SB-AC-809

SF-AP-801

SB-AC-810

S
B

-A
H

-8
0
7 S

B
-A

H
-8

0
3

SF-AP-831

SF-AP-802

2x HST M8x95/30 heff=60mm2x HST M8x95/30 heff=60mm

RS_PRO_619_1736
EPDM

EPDM
U5*18*1

EJOT JT4-6-5.5x22

1 x M8 x 65
931-A2-70

2 x M6 x 25
931-A2-70

NUT M6 DIN934-A2-70

WASHER M6 DIN125-A2-70

Weld studs M6x12

SB-AC-811

ST4.2x16_A2 DIN7504P

S
B

-A
H

-8
0
8

SF-AP-831 SF-AP-802

RS_PRO_619_1736
EPDM

2x HST M8x95/30 heff=60mm

SB-AR-818

EJOT JT4-6-5.5x22

1 x M8 x 65
931-A2-70

2 x M8 x 25
931-A2-70

4 x M6 x 25
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

1 x M8 x 65
931-A2-70

SB-AB-808

3x ST4.2x16_A2 DIN7504P

3x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

12x EJOT JT4-6-5.5x22

12x ST4.2x16_A2 DIN7504P

SF-AP-803

SB-AC-810
SB-AC-810

S
B

-A
H

-8
0
3

SB-AH-809
SF-AP-831

SF-AP-832

SF-AP-802

RS_PRO_619_1736
EPDM

EPDM
U5*18*1

EJOT JT4-6-5.5x22

SB-AR-818

1 x M8 x 65
931-A2-70

2 x M6 x 25
931-A2-70

NUT M6 DIN934-A2-70

WASHER M6 DIN125-A2-70

Weld studs M6x12

SB-AC-812

ST4.2x16_A2 DIN7504P

SF-AP-803

S
B

-A
H

-8
1
0

SF-AP-832

4
9

0

RS_PRO_619_1736
EPDM

2x HUS-HR M8x95 heff=80mm

4 x M8 x 35
931-A2-70

SB-AB-813
SB-AB-814

EJOT JT4-6-5.5x22

NUT M6 DIN934-A2-70

WASHER M6 DIN125-A2-70

Weld studs M6x12

SB-AC-817

ST4.2x16_A2 DIN7504P
SRUBA

HUS-HR M8x95 heff=80mm

SB-AC-818

SB-AC-819
SB-AH-804

SB-AC-820

DIN7337

DIN7337

DIN7337

DIN7337

DIN7337

DIN7337

DIN7337

DIN7337
SF-AP-835

SF-AP-806

RS_PRO_619_1736
EPDM

4 x M6 x 25
931-A2-70

SB-AR-804

SB-AB-807

2x ST4.8x19 DIN 7504N-A2

EJOT JT4-6-5.5x22

ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

SF-AP-821

SF-AP-820

60 50 240 230 1024
9

0

1
0

0
3

5
5

2x HUS-HR M8x95 heff=80mm

SB-AB-816

SB-AB-815
SB-AB-816

SB-AB-815

SB-AB-816

SB-AB-815

SB-AB-813

SB-AB-814

SB-AB-812

3x EJOT JT4-6-5.5x22

3x EJOT JT4-6-5.5x22

4 x M8 x 35
931-A2-70

4 x M8 x 35
931-A2-70

DIN7337

DIN7337

2x EJOT JT4-6-5.5x22
2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

4 x M8 x 30
931-A2-70

4 x M8 x 30
931-A2-70

4 x M8 x 30
931-A2-70

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm

SB-AC-818 SB-AC-821
SF-AP-807

SF-AP-806

HUS-HR M8x95

1
0

0
3

5
5

RS_PRO_619_1736
EPDM

SB-AR-825

1 x M8 x 65
931-A2-70

SB-AB-815

SB-AB-816

4 x M8 x 30
931-A2-70

2x EJOT JT4-6-5.5x22

EJOT JT4-6-5.5x22

4 x M6 x 25
931-A2-70

2 x M6 x 25
931-A2-70

SB-AB-817

HUS-HR M8x95 heff=80mm

HUS-HR M8x95 heff=80mm

ST4.2x16_A2 DIN7504P

SB-AH-843

ST4.2x16_A2 DIN7504P

S
B

-A
C

-8
0
2

DIN7337
DIN7337

DIN7337 DIN7337

DIN7337

DIN7337

SB-AC-821SF-AP-836

SF-AP-807

RS_PRO_619_1736
EPDM

3 x M8 x 25
931-A2-70
Holes to be drilled on site

B1

B1
2x ST4.2x16_A2 DIN7504P

3x EJOT JT4-6-5.5x30

EJOT JT4-6-5.5x22

3x ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

SF-AP-821
SF-AP-820

3 x M8 x 25
931-A2-70
Holes to be drilled on site

ST4.2x16_A2 DIN7504P

EJOT JT4-6-5.5x30
SF-AP-820

SB-AB-803

SB-AB-802

RS_PRO_619_1736
EPDM

SB-AR-804

2 x M6 x 35
931-A2-70
Holes to be drilled on site

4x EJOT JT4-6-5.5x22 EJOT JT4-6-5.5x22

1 x M8 x 60
931-A2-70

4 x M6 x 25
931-A2-70

3 x M8 x 40
931-A2-70

SB-AB-807

2x ST4.8x19 DIN 7504N-A2

ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

SF-AP-821

S
B

-A
C

-8
0
1

SB-AH-801

DIN7337

DIN7337

DIN7337

SF-AP-820

RS_PRO_619_1736
EPDM

EJOT JT4-6-5.5x22

4x EJOT JT4-6-5.5x22

1 x M8 x 65
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

4 x M6 x 25
931-A2-70

3 x M8 x 40
931-A2-70

SB-AR-806

SB-AB-805

SB-AR-807

2x ST4.8x19 DIN 7504N-A2

ST4.2x16_A2 DIN7504P

S
B

-A
C

-8
0
2

ST4.2x16_A2 DIN7504P

SB-AH-802

DIN7337

DIN7337

DIN7337

SF-AP-823

SF-AP-822

RS_PRO_619_1736
EPDM

4 x M6 x 25
931-A2-70

SB-AR-807

SB-AB-807

2x ST4.8x19 DIN 7504N-A2

ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

SF-AP-823

SF-AP-822

RS_PRO_619_1736
EPDM

2x EJOT JT4-6-5.5x22

EJOT JT4-6-5.5x22

2 x M6 x 35
931-A2-70

1 x M8 x 65
931-A2-70

1 x M8 x 65
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

2 x M6 x 25
931-A2-70

SB-AB-806

SB-AR-809

3x ST4.2x16_A2 DIN7504P

3x EJOT JT4-6-5.5x22
EJOT JT4-6-5.5x22

2x ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

S
B

-A
H

-8
0
5

SB-AH-824

ST4.2x16_A2 DIN7504P

SF-AP-824

SF-AP-825

SF-AP-823

SF-AP-822

RS_PRO_619_1736
EPDM

EJOT JT4-6-5.5x22

EJOT JT4-6-5.5x22
1 x M8 x 65
931-A2-70

1 x M8 x 65
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

2 x M6 x 25
931-A2-70

SB-AR-810

3x EJOT JT4-6-5.5x22

3x ST4.2x16_A2 DIN7504P

SB-AB-806

SB-AR-809

2x ST4.2x16_A2 DIN7504P

2x EJOT JT4-6-5.5x22

SB-AH-824

ST4.2x16_A2 DIN7504P

SF-AP-826

SF-AP-827

SF-AP-824

SF-AP-825

ST4.2x16_A2 DIN7504P

RS_PRO_619_1736
EPDM

1 x M8 x 60
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

4 x M6 x 25
931-A2-70

3 x M8 x 40
931-A2-70

SB-AR-805

SB-AR-812

SB-AB-807

3x EJOT JT4-6-5.5x22

EJOT JT4-6-5.5x22

EJOT JT4-6-5.5x22

2x ST4.8x19 DIN 7504N-A2

ST4.2x16_A2 DIN7504P

S
B

-A
C

-8
0
1

SB-AH-801

DIN7337

DIN7337

DIN7337

ST4.2x16_A2 DIN7504P

SF-AP-828

SF-AP-829

RS_PRO_619_1736
EPDM

4 x M6 x 30
931-A2-70
Holes to be drilled on site

3x EJOT JT4-6-5.5x22EJOT JT4-6-5.5x22

SB-AB-801

SB-AR-814

NUT M6 DIN934-A2-70

WASHER M6 DIN125-A2-70

Weld studs M6x12

SB-AC-808

ST4.2x16_A2 DIN7504P

SB-AC-804

SB-AC-803
SF-AP-830

SF-AP-801

DIN7337

DIN7337

DIN7337

DIN7337

DIN7337 DIN7337
DIN7337

SB-AC-805

RS_PRO_619_1736
EPDM

SB-AB-808

4 x M6 x 25
931-A2-70

1 x M8 x 65
931-A2-70

2 x M8 x 25
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

1 x M8 x 65
931-A2-70

3x EJOT JT4-6-5.5x22

SB-AB-818

SB-AR-827

3x ST4.2x16_A2 DIN7504P

EJOT JT4-6-5.5x22
2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

6x EJOT JT4-6-5.5x22

6x ST4.2x16_A2 DIN7504P

2x HST M8x95/30 heff=60mm

ST4.2x16_A2 DIN7504P

SB-AC-813

SF-AP-837

S
B

-A
H

-8
0
3

SB-AH-818

SB-AC-816

SF-AP-808

SF-AP-836

SF-AP-807

RS_PRO_619_1736
EPDM

EJOT JT4-6-5.5x22

4 x M6 x 25
931-A2-70

2 x M6 x 25
931-A2-70

1 x M8 x 65
931-A2-70

SB-AR-827

SB-AB-817

ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

SF-AP-837

SB-AH-819

SF-AP-808

RS_PRO_619_1736
EPDM

1 x M8 x 65
931-A2-70

2 x M8 x 25
931-A2-70

3x EJOT JT4-6-5.5x22

4 x M6 x 25
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

1 x M8 x 65
931-A2-70

3x ST4.2x16_A2 DIN7504P

SB-AR-828

SB-AR-829

SB-AB-819

SB-AB-808

7x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

7x ST4.2x16_A2 DIN7504P
ST4.2x16_A2 DIN7504P

2x HST M8x95/30 heff=60mm

SF-AP-838

SF-AP-837

S
B

-A
H

-8
0
3

SB-AH-820

EJOT JT4-6-5.5x22

SB-AC-816

SB-AC-822

SF-AP-809

SF-AP-808

79 200 660 200 107

1
0

0
3

5
5

1
0

0
3

5
5

4 x M8 x 30
931-A2-70

4 x M8 x 30
931-A2-70

4 x M8 x 30
931-A2-70

4 x M8 x 30
931-A2-70

5x EJOT JT4-6-5.5x22

5x EJOT JT4-6-5.5x22

SB-AR-838

SB-AR-835

SB-AB-822

SB-AB-815

SB-AR-837

SB-AB-825
SB-AB-815

SB-AB-825

SB-AB-815

SB-AB-824

SB-AB-815

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22 2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22
2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm
SB-AC-823

SB-AC-824

SB-AC-816 SB-AC-816
SB-AC-816

SB-AC-816

SF-AP-813SF-AP-812

110 52

1
0

0
3

5
6

4 x M8 x 30
931-A2-70

3x EJOT JT4-6-5.5x22

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm

SB-AR-835

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

SB-AB-822

SB-AB-815

SB-AB-821 SB-AC-816

SF-AP-812

55 122

1
0

0
3

5
5

4 x M8 x 30
931-A2-70

SB-AB-825

SB-AB-815

SB-AB-826

SB-AR-837

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm

SB-AC-816

SF-AP-813

RS_PRO_619_1736
EPDM

EJOT JT4-6-5.5x22

4 x M6 x 25
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

1 x M8 x 65
931-A2-70

1 x M8 x 65
931-A2-70

2 x M8 x 25
931-A2-70

9x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

SB-AB-808

SB-AB-828

SB-AR-839

SB-AR-840

3x EJOT JT4-6-5.5x22

3x ST4.2x16_A2 DIN7504P

9x ST4.2x16_A2 DIN7504PST4.2x16_A2 DIN7504P

SF-AP-843

SB-AH-830

S
B

-A
H

-8
0
3

SB-AC-822

SB-AC-825

SF-AP-814

SF-AP-813

SF-AP-842

2x HST M8x95/30 heff=60mm

RS_PRO_619_1736
EPDM

EJOT JT4-6-5.5x22

4 x M6 x 25
931-A2-70

2 x M6 x 25
931-A2-70

1 x M8 x 65
931-A2-70

SB-AB-817

SB-AR-842

ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

SF-AP-843

SB-AH-831

SF-AP-814

RS_PRO_619_1736
EPDM

4 x M6 x 25
931-A2-70

2 x M6 x 35
931-A2-70
Holes to be drilled on site

1 x M8 x 65
931-A2-70

1 x M8 x 65
931-A2-70

2 x M8 x 25
931-A2-70

EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

SB-AB-829

SB-AB-808

SB-AR-845
SB-AR-841

3x EJOT JT4-6-5.5x22

3x ST4.2x16_A2 DIN7504P

11x EJOT JT4-6-5.5x22

11x ST4.2x16_A2 DIN7504PST4.2x16_A2 DIN7504P

SF-AP-844

SF-AP-843

SB-AH-832

S
B

-A
H

-8
0
3

EJOT JT4-6-5.5x22

SB-AC-810

EJOT JT4-6-5.5x22

SB-AC-813

SF-AP-815

SF-AP-814

2x HST M8x95/30 heff=60mm

2
0

5

3
5

5

69 150 622 340 70

SB-AB-837

SB-AR-808

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22
2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

SB-AR-849
SB-AR-847

SB-AB-833

SB-AB-815
SB-AB-825

SB-AB-815

SB-AB-833

SB-AB-815 SB-AB-825

SB-AB-815

SB-AR-850

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm

2x HUS-HR M8x95 heff=80mm

SB-AC-826

SB-AC-816

SB-AC-816

SB-AC-816

SB-AC-816

SB-AC-816

SB-AC-816

SF-AP-819

SF-AP-818

100 123 123 100

4
8

3

SB-AB-832

3x HUS-HR M8x95 heff=80mm

4x EJOT JT4-6-5.5x22

SF-AP-818

165 60

4
8

3

3x EJOT JT4-6-5.5x22

SB-AB-831
2x HUS-HR M8x95 heff=80mm

SF-AP-818

2
0

5

3 x M8 x 30
931-A2-70

2 x M8 x 25
931-A2-70

2 x M8 x 25
931-A2-70

2 x M8 x 25
931-A2-70

3 x M8 x 25
931-A2-70

3 x M8 x 25
931-A2-70

3 x M8 x 40
931-A2-70

3 x M8 x 25
931-A2-70

SB-AB-804

SB-AB-841

SB-AB-840

SB-AB-809

SB-AB-835

SB-AR-808

SB-AB-837
SB-AB-839

SB-AB-838

3x ST4.2x16_A2 DIN7504P

2x EJOT JT4-6-5.5x22

2x EJOT JT4-6-5.5x22

3x ST4.2x16_A2 DIN7504P

3x ST4.2x16_A2 DIN7504P

ST4.2x16_A2 DIN7504P

SB-AC-826

SF-AP-819

8

8
Steel structure

SB-AS-803

SB-AS-802

SB-AS-801
SB-AH-***

2 x M6 x 35
931-A2-70
Holes to be drilled on site

Steel structure

SB-AH-***

SB-AS-802

SB-AS-801

SB-AS-803


